MRS 4 A 10 B EER A NE BRE (5 10)

L2 === L, BFERE,
B L21xT_3:%:z72’$L1 b
U=(1,-2-3) GxTeide| 13 8| =23 (—1)44-T45 (—1) =0 (1+141)
A U=(1,3,-7) (+1) 1 os | -
W=(2,31)~(3,~4,2)=(~1,7,-1) codist(Ly, Le) = 0 ¢4
r=1+t
=. K (4,1,-2) 8] y=3-2t #93E&H,
z=4-3t
4 U=E29) XA 0BT, THRA,
U =(4,1,-2)—(1,3,4)=(3,—2,—6)
T laxd] _ V(Z62+H(=3)2+(4)* 1440\ _ VT
SEAE = ||U]|sin 6 = S = T ( )= 5 o
B ERYR. WoRF S, OKER. MERE ... fiE . B BE%REIEE, 2HBEE D,

WS 4 B 10 B EER & NE mE (W5 10)

r=1+1 x=1+2s
. L1: y:1+6t 7L2: y:5+153 ,*Llﬁ’%LQ ééﬁE%&o
z =2t z=—2+4606s
0 —4 2
U=(1,6,2) UXUTewW=|1 =6-04+(—2)-(—4)+3-2=14 (1+1+1)
A U=(2,156) (+1) 2 156
U_f (1 170)—(1,5,—2):(0,—4,2) dlSt(Ll, LQ) e & = 2(+1)
V62 + 22 + 32
=72
= KR P=(0,1,3) Bl L: y=6—2t #93E#,
z=3+t
4 U2 XA 0 Bl R A
U =(0,1,3)—(0,6,3)=(0,—5,0)
. il win g — laxdl /(G202 (=102 44y 56
dist(P, L) = ||U]| sinf = M= Jor e ( ) =252+
B RV, WorF 8. OKRER. MERE ... g Belligix BEEREIEE, 2HEES .



